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Learning Goal 2.1 - Radicals Practice Test

Name: W" -

Date:

-+
1. The sum of V18 and 6V2 Is

9\/5

C. 152 D. 18

+
2. The sum of V50 and V18 is

8\/5

D. 34

3. The expression V200 is equivalent to

3/O\O A. 25V8 B. 100V2
I * c. 2v10 10\/5
N
) 19
\61'5 JON2

4. The expression V50 is equivalent to

550 sﬁ B. 25V2
ff?z Cc. 25 D. 5V10
Z 755

BIA
5. The expression 5V/3 - /27 is equivalent
to
ﬂ’g'@ A. 8/3 B. -8V3
.rg; -3\6 C. -2v/3 @ 2V3
al3
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6. The sum of V27 and 63 is

ﬁ@ﬂxfg

v (s 43603
C. 9v/6 D. 15V3 qJ‘é

7. Which is equivalent to V40?7

7 A
2\/1_0 B. 2V20 o [0

C. 4/10 D. 10V2 52 7_5

@ & Ve

9. The expression V93 is a number
between

(©

10. When V72 is expressed in simplest avb
form, what is the value of a?

f : c3 os 4
s B. 2 3/;;?2

B. 8and 9
D. 46 and 47

3and 9
9 and 10
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11. Expressed in simplest radical form, the
product of V6-/15 is

—
B. 9V10
D. 3V15

q A. V90
5 @3@
H{10

12. Which expression is equivalent to 7v/90 ?

C|0 A. 16V10 21V10
q/}O C. 70V/9 D. V630
AN
315

1G5
4
\[0

13. What is 2V/45 expressed in simplest
radical form?

u5 A. 3V5 B. 5V5
q/\5 6V5 D. 18V5
N
%%

14. Which represents an irrational number?

A. 0 B. 3 @\/i D. Va=2

15. Which does not represent a rational

number?
7 e it
7 .

vie D. 0.29

A 3

16. Which is a rational number?

A. V7 B. Vig Va3 D. V20
7

17. Express V25 - 2V/3 + V27 + 2V/9 In the

simplest radical form. _I

|7 - QE+ J37+alq %\

5-V3+3D3 + 23 . 3
39

K- ¢33+ b

il\+ﬁ&
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